
4/3/2014 Ryobi Electronics Parts Catalog -- Ryobi Power Tools Consumer: [SA120 3/8" 12 Volt Cordless Drill Driver]/[Cordless Drill 3/8" 12 Volt]_______________…

http://ryobitools.arinet.com/scripts/EmpartISAPI.dll?MF&app=RPT531&session=5438f0b8-aa0d-4293-b4a3-a5c77acf9f03&cat=3&TF=epcFrame&assem=315&s… 1/2



4/3/2014 Ryobi Electronics Parts Catalog -- Ryobi Power Tools Consumer: [SA120 3/8" 12 Volt Cordless Drill Driver]/[Cordless Drill 3/8" 12 Volt]_______________…

http://ryobitools.arinet.com/scripts/EmpartISAPI.dll?MF&app=RPT531&session=5438f0b8-aa0d-4293-b4a3-a5c77acf9f03&cat=3&TF=epcFrame&assem=315&s… 2/2

 Ref # Part # Description Qty Context Note Foot Note

1 200108017
HOUSING

ASSEMBLY
1   

2 940252059 DATA PLATE 1   

3 6620614
SCREW (M3.5 X 14

mm)
1

STANDARD HARDWARE ITEM

- (Purchase locally)
 

4 6620311
SCREW (M3 X 20

mm)
2

STANDARD HARDWARE ITEM

- (Purchase locally)
 

5 6387101 MOUNTING PLATE 1   

6 5553201 SPRING HOLDER 1   

7 6399201 DETENT CLIP 2   

8 511325001 CLUTCH CAP 1   

9 5501402 SLEEVE 1   

10 6894301 SPRING 1   

11 6901103 WASHER 1   

12 6901102 WASHER 1   

13 6710501 CLUTCH WASHER 1   

14 6722001 BALL 16   

15 985113-001 MOTOR ASSEMBLY 1   

16 270018004 SWITCH ASSEMBLY 1   

17 5260411 BIT CLIP 1   

18 3000907 TOP LEVEL 1   

19 6620606
SCREW (M3.5 X 16

mm)
7

STANDARD HARDWARE ITEM

- (Purchase locally)
 

20 9418527 LOGO PLATE 1   

21 1311148 BATTERY PACK 1   

22 6903201 CHUCK 1   

23 6612001
SCREW (M5 X .8 X

26mm LH)
1   

24 1411141 CHARGER 1   

25 511540001 BIT BOX 1   

26 6782044 BIT 1   

27 6782045 BIT 1   

28 300730093 CARRYING CASE 1 (NOT SHOWN)  

29 120028103 28 PIECE BIT SET 1 (NOT SHOWN)  

983000-333
OPERATOR'S

MANUAL 9-22-03
   

983000-333R REPAIR SHEET    


